11)

X=8

R=7

Y =56

B=7

G=10

625

.08

Z

25

24

25

2X-X+12 = X-]-3- 4|
~AX 412)= X~12
12 412 = X+ 3X

24 = 4X
6 = X

-2(6) - (6) + 12 =(6) - |-3 - 4l

-12-6+12=6-|-12

6=6-12

-6=-6

12)

13)

14)
15)
16)

17)
18)
19)

20)

—(6+7)% +{0 +5)° =5M+1

~(13)% +15% =5M+1
~169+225 =5M+1
56 =5M+1
55 =5M
1=M
-(6+7)2+(10+5)2=5(11) +1
-(13)2 + (15)2= 55 + 1

-169 + 225 = 56
56 = 56
11.72in
N - - |
106 56 56 53yrs.
3,1_3
8 2716
32°F
$1,200

$1,200 + 5 = $240;
$240 x 3 = $720
2A+3-15=A
2A-12=A
2A-A=12
A=12

21A

1)
2)

10)

11)

12)

13)

14)

15)

done
3,6,9,12,15, 18, 21, 24, 27, 30
5,10, 15, 20, 25, 30, 35, 40, 45, 50
LCM =15

4,8,12, 16, 20, 24, 28, 32, 36, 40
5,10, 15, 20, 25, 30, 35, 40, 45, 50
LCM =20

done
12=2x2x3

8=2x2x2 8
/

done
2x2x3=12;3x5=15
LCM=2x2x3x5=60
2x2x2=8;2x3x3=18
LCM=2x2x2x3x3=72
2x2x2=8;3x5=15
LCM=2x2x2x3x5=120
1x5=5;2x2x2=8
LCM=2x2x2x5=40
2x2=4;3x3=9
LCM=2x2x3x3=36
1x383=3;2x2=4
LCM=2x2x3=12
8=2x2x2;12=2x2x3
LCM=2x2x2x3=24

21B
1)

2)

3)

5)

6)

7)

8)
9)
10)
11)
12)

13)
14)

15)

4,8, 12, 16, 20, 24, 28, 32, 36, 40

LCM=8

6, 12, 18, 24, 30, 36, 42, 48, 54, 60
10, 20, 30, 40, 50, 60, 70, 80, 20, 100
LCM =30 :
4,8,12, 16, 20, 24, 28, 32, 36, 40
5,10, 15, 20, 25, 30, 35, 40, 45, 50
LCM =20

24=2X2X2X3 ————P 24

/' \
2 12
64=2x2x2x2x2x2 64 2/\6
/' \ /\
2 32
N 2 3
2 16
/\
32=2x2x2x2x2 32 2 8
/7 \ /' \
2 16 4
2/\8 /' \
= 2 2
20=2x2x5 /20\ /N
2 10 2 A
/\ /' \

2x2x5=20;2x2x2x3=24
LCM=2x2x2x3x5=120

2x2x5=20;2x2x2x2x2=32
LCM=2x2x2x2x2x5=160

2X2X2Xx3=24;2x2x2x2Xx2x2=64
LCM=2x2x2x2x2x2x3=192

2x2x2x2x2=82;2x2x2x2x2x2=64
LCM=2x2x2x2x2x2=64

2x3=6;2x2x3=12
LCM=2x2x3=12

1x5=5;1x7=7;LCM=5x7=35

3x3=9;2x2x3=12
LCM=2x2x3x3=36

3x1=3;3x5=15;LCM=3x5=15

gd1¢ - 40¢ suounjos



21C
1)

7)

8)

10)

11)

12)

13)

14)

15)

7,14, 21,28, 35, 42, 49, 56, 63, 70
8,16, 24, 32, 40, 48, 56, 64, 72, 80
LCM =56

3,6,9, 12,15, 18, 21, 24, 27, 30
7,14, 21, 28, 35, 42, 49, 56, 63, 70
LCM =21
2,4,6,8,10,12, 14, 16, 1
5,10, 15, 20, 25, 30, 35,
LCM=10 :

2x2x2x2=16 ——>» 16
/' N\

2 8
/\
2 4
7/ \
2 2

8,20
40, 45, 50

5x5=25 25
/\

5 &

2x5=10 ———» 10
/' \

ox2x7=28 28 2 5

/' \
2 14
/' \
2 7
2x2x2x2=16;5x5=25
LCM=2x2x2x2x5x5=400

5x5=25;2x5=10
LCM=2x5x5=50
2x5=10;2x2x7 =28
LCM=2x2x5x7 =140
2X2%x2x2=16,2x2x7=28
LCM=2x2x2x2x7=112
2x5=10;3x5=15
LCM=2x3x5=30
2x2x2=8;3x3=9
L[CM=2x2x2x3x3=72
1x11=11;2x2x3=12
LCM=2x2x3x11=132
5x1=5;2x3=6
LCM=2x3x5=30

9

2x11

2x2x7

3x3x5

2x2x3x3
2x83=6;3x3=9
LCM=2x3x3=18
2x2=4;3x5=15
LCM=2x2x3x5=60
5x1=5;3x3=9
LCM=3x3x5=45
2x2x2=8;2x2x5=20
LCM=2x2x2x5=40

{63' = 1—X§ ; X =12 Remember
that there is more than one
way to set up the ratio, and
more than one way to solve
the ratio once it is set up.
We will only show one

exarnple here.

Y _5 .y
1 ‘15’Y‘6
-5l =5

-131=-3

1+5=.20=20%
6+ 100 = .06 = 6%

=~ 8 = _1_= 10
5.8—.622 622/0

25+100=.25 =25%
2_ X .y

5~ 3> ; X =98

82 +10% =157

64 +100 = 225
164 # 225; no

21E

20 N2

S

10)
11)
12)
13)

14)
15)

16)
17)

18)

19)

20)

2x3

2x7

2X2x2x2x3
2x5=10;2x2x3=12
LCM=2x2x3x5=60
3x3=9;2x5=10
LCM=2x3x3x5=90
2x2x83=12;2x2x2x2x3=48
LCM=2x2x2x2x3=48

3.56+.5=7.12

6 + 7 = .86 (rounded)
2+5=.40=40%
1+4=.25=25%

1+3=.33 % (rounded) = 33 -13- %
%x 259 = 45; 45 + 32 = 77°

30°-32=-2; 2% g = -1.1° rounded

$65.35 + $4.50 = $69.85

1_Xogx=0:x=41
4_2,4X-2,X._ > gallon

62 +82 = 12

36 +64 = H?

100 = H?

10ft=H

20 + 5 =4; 4 x 4 = 16 brought umbrellas
20 - 16 = 4 did not bring umbrellas

21F

1)
2)

4)

10)
11)
12)

13)
14)

15)

16)

17)

18)
19)

20)

2x17

2Xx2x2x5
2x3x3x3
2x7=14;2x2x7=28
LCM=2x2x7=28

3x1=3;2x2x2x2=16
LCM=2x2x2x2x3=48

3x5=15;2x2x2x5=40
2x2x2x3x5=120
15x3=45;23x3=R
R=6.9

5

2 _E.po5.0-
2 =5;E=5+.2=25

7+8=.875
1.3+.25=5.2

10 + .3 =33.33 rounded
3+4=.75=75%
.a_eol _ ol
578_.622_622 Yo
1+100=.01=1%

20 _ X.x =20x5=100mi.
175

122 + 92 =12

144 +81= H?

225 = H

15 mi.=H

15 + 12 =27 mi. total

5 .12 3 _20.

20 20 20 " 20" Y&°

230° - 32 = 198; 198 X g=11o°(11a9ﬂ
4x4=1&4@x4x%)=%

16 + 48 = 64 5q. ft.

2X+8=16

2X=16-8

2X=8

X=4

41¢ - Ole suonnjos



